
 
 www.alliedboltinc.com

		  www.alliedboltinc.com
P: 516-512-7600 F: 516-512-7611

Fastener Power Utility Hardware Catalog November 29, 2024

Copyright © 2024 Allied Bolt Products, LLC. All rights reserved 1 of 2

Bolts

SILICON BRONZE HEX CAP SCREW
1/4" SILICON BRONZE HEX CAP SCREW

PART# DESCRIPTION PKG
QTY

CTN
QTY

CTN
WT.

14101 1/4"-20 x 1/2" SILICON BRONZE HEX CAP SCREW 100 16 20

14102 1/4"-20 x 3/4" SILICON BRONZE HEX CAP SCREW 100 16 23

764 1/4"-20 x 1" SILICON BRONZE HEX CAP SCREW 100 16 28

14103 1/4"-20 x 1-1/4" SILICON BRONZE HEX CAP SCREW 100 16 27

14104 1/4"-20 x 1-1/2" SILICON BRONZE HEX CAP SCREW 100 8 16

14105 1/4"-20 x 2" SILICON BRONZE HEX CAP SCREW 100 8 26

14106 1/4"-20 x 2-1/2" SILICON BRONZE HEX CAP SCREW 100 4 16

14107 1/4"-20 x 3" SILICON BRONZE HEX CAP SCREW 100 4 19

14108 1/4"-20 x 3-1/2" SILICON BRONZE HEX CAP SCREW 100 4 22

14109 1/4"-20 x 4" SILICON BRONZE HEX CAP SCREW 100 4 24

14110 1/4"-20 x 4-1/2" SILICON BRONZE HEX CAP SCREW 100 4 30

14111 1/4"-20 x 5" SILICON BRONZE HEX CAP SCREW 100 4 29

14112 1/4"-20 x 5-1/2" SILICON BRONZE HEX CAP SCREW 100 4 32

14113 1/4"-20 x 6" SILICON BRONZE HEX CAP SCREW 100 1 9

5/16" SILICON BRONZE HEX CAP SCREW
PART# DESCRIPTION PKG

QTY
CTN
QTY

CTN
WT.

14114 5/16"-18 X 1/2" SILICON BRONZE HEX CAP SCREW 100 4 8

9900 5/16"-18 X 3/4" SILICON BRONZE HEX CAP SCREW 100 8 17

9901 5/16"-18 X 1" SILICON BRONZE HEX CAP SCREW 100 8 18

9902 5/16"-18 X 1-1/4" SILICON BRONZE HEX CAP SCREW 100 8 22

14115 5/16"-18 X 1-1/2" SILICON BRONZE HEX CAP SCREW 100 8 32

14116 5/16"-18 X 2" SILICON BRONZE HEX CAP SCREW 100 4 20

14117 5/16"-18 X 2-1/2" SILICON BRONZE HEX CAP SCREW 100 4 25

14118 5/16"-18 X 3" SILICON BRONZE HEX CAP SCREW 100 4 29

14119 5/16"-18 X 3-1/2" SILICON BRONZE HEX CAP SCREW 100 1 8

14120 5/16"-18 X 4" SILICON BRONZE HEX CAP SCREW 100 1 9

14121 5/16"-18 X 4-1/2" SILICON BRONZE HEX CAP SCREW 100 1 10

14122 5/16"-18 X 5" SILICON BRONZE HEX CAP SCREW 100 1 12

14123 5/16"-18 X 5-1/2" SILICON BRONZE HEX CAP SCREW 100 1 13

14124 5/16"-18 X 6" SILICON BRONZE HEX CAP SCREW 100 1 14

3/8" SILICON BRONZE HEX CAP SCREW
PART# DESCRIPTION PKG

QTY
CTN
QTY

CTN
WT.

14125 3/8"-16 X 1/2" SILICON BRONZE HEX CAP SCREW 100 8 22

9906 3/8"-16 X 3/4" SILICON BRONZE HEX CAP SCREW 100 8 28

9907 3/8"-16 X 1" SILICON BRONZE HEX CAP SCREW 100 8 30

9908 3/8"-16 X 1-1/4" SILICON BRONZE HEX CAP SCREW 100 8 35

14126 3/8"-16 X 1-1/2" SILICON BRONZE HEX CAP SCREW 100 4 23

14127 3/8"-16 X 2" SILICON BRONZE HEX CAP SCREW 100 1 7

14128 3/8"-16 X 2-1/2" SILICON BRONZE HEX CAP SCREW 100 1 9

14129 3/8"-16 X 3" SILICON BRONZE HEX CAP SCREW 100 1 10

14130 3/8"-16 X 3-1/2" SILICON BRONZE HEX CAP SCREW 100 4 47

14131 3/8"-16 X 4" SILICON BRONZE HEX CAP SCREW 100 1 14

14132 3/8"-16 X 4-1/2" SILICON BRONZE HEX CAP SCREW 100 1 15

14133 3/8"-16 X 5" SILICON BRONZE HEX CAP SCREW 100 1 17

14134 3/8"-16 X 5-1/2" SILICON BRONZE HEX CAP SCREW 100 1 18

14135 3/8"-16 X 6" SILICON BRONZE HEX CAP SCREW 100 1 20



 
 www.alliedboltinc.com

		  www.alliedboltinc.com
P: 516-512-7600 F: 516-512-7611

Fastener Power Utility Hardware Catalog November 29, 2024

Copyright © 2024 Allied Bolt Products, LLC. All rights reserved 2 of 2

1/2" SILICON BRONZE HEX CAP SCREW
PART# DESCRIPTION PKG

QTY
CTN
QTY

CTN
WT.

14136 1/2"-13 X 3/4" SILICON BRONZE HEX CAP SCREW 100 1 8

14137 1/2"-13 X 1" SILICON BRONZE HEX CAP SCREW 100 1 9

14138 1/2"-13 X 1-1/4" SILICON BRONZE HEX CAP SCREW 100 1 11

14139 1/2"-13 X 1-1/2" SILICON BRONZE HEX CAP SCREW 50 4 25

141391 1/2"-13 X 1-3/4" SILICON BRONZE HEX CAP SCREW 10 32 43

14140 1/2"-13 X 2" SILICON BRONZE HEX CAP SCREW 50 4 29

14141 1/2"-13 X 2-1/2" SILICON BRONZE HEX CAP SCREW 50 4 34

14142 1/2"-13 X 3" SILICON BRONZE HEX CAP SCREW 50 4 38

14143 1/2"-13 X 3-1/2" SILICON BRONZE HEX CAP SCREW 25 4 18

14144 1/2"-13 X 4" SILICON BRONZE HEX CAP SCREW 100 1 26

14145 1/2"-13 X 4-1/2" SILICON BRONZE HEX CAP SCREW 100 1 29

14146 1/2"-13 X 5" SILICON BRONZE HEX CAP SCREW 100 1 31

14147 1/2"-13 X 5-1/2" SILICON BRONZE HEX CAP SCREW 100 1 34

14148 1/2"-13 X 6" SILICON BRONZE HEX CAP SCREW 100 1 37

5/8" SILICON BRONZE HEX CAP SCREW
PART# DESCRIPTION PKG

QTY
CTN
QTY

CTN
WT.

14153 5/8"-11 X 1" SILICON BRONZE HEX CAP SCREW 100 1 15

14154 5/8"-11 X 1-1/4" SILICON BRONZE HEX CAP SCREW 100 1 17

14155 5/8"-11 X 1-1/2" SILICON BRONZE HEX CAP SCREW 100 1 19

14156 5/8"-11 X 2" SILICON BRONZE HEX CAP SCREW 100 1 23

14157 5/8"-11 X 2-1/2" SILICON BRONZE HEX CAP SCREW 100 1 27

14158 5/8"-11 X 3" SILICON BRONZE HEX CAP SCREW 100 1 32

14159 5/8"-11 X 3-1/2" SILICON BRONZE HEX CAP SCREW 100 1 36

14160 5/8"-11 X 4" SILICON BRONZE HEX CAP SCREW 100 1 41

14161 5/8"-11 X 4-1/2" SILICON BRONZE HEX CAP SCREW 100 1 45

14162 5/8"-11 X 5" SILICON BRONZE HEX CAP SCREW 100 1 49

14163 5/8"-11 X 5-1/2" SILICON BRONZE HEX CAP SCREW 100 1 54

14164 5/8"-11 X 6" SILICON BRONZE HEX CAP SCREW 50 1 27

3/4" SILICON BRONZE HEX CAP SCREW
PART# DESCRIPTION PKG

QTY
CTN
QTY

CTN
WT.

14169 3/4"-10 X 1-1/2" SILICON BRONZE HEX CAP SCREW 100 1 30

14170 3/4"-10 X 2" SILICON BRONZE HEX CAP SCREW 100 1 36

14171 3/4"-10 X 2-1/2" SILICON BRONZE HEX CAP SCREW 100 1 42

14172 3/4"-10 X 3" SILICON BRONZE HEX CAP SCREW 100 1 48

14173 3/4"-10 X 3-1/2" SILICON BRONZE HEX CAP SCREW 100 1 54

14174 3/4"-10 X 4" SILICON BRONZE HEX CAP SCREW 50 1 30

14175 3/4"-10 X 4-1/2" SILICON BRONZE HEX CAP SCREW 50 1 32

14176 3/4"-10 X 5" SILICON BRONZE HEX CAP SCREW 50 1 36

14177 3/4"-10 X 5-1/2" SILICON BRONZE HEX CAP SCREW 50 1 38

14178 3/4"-10 X 6" SILICON BRONZE HEX CAP SCREW 50 1 42


